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MOV F#E | FFOVKHE | RSOV LEE | FFOJ R | F-LSNEA| B | B | 9 | B |88 | k8| Z |
K04 F 48 O2-1/01-0/0O3-1|4|0]|0|12|10{2|8]1
0K [x 0 - 4 O 2-0|x 0-3[x 2- 1(3|0]3 14|-10| 5
oL [x 1 - 2 O 1 12|14 6|-2| 4
FOJR# [x 0 - 1|0 3 -0 12|14 13
F-LSEA|x 1 - 3|0 7 - 1|1|2|5[11{8|3]|2
DEDEP
AJOvy 4 BKLYR | MSCIDIL— TIR-X | B | & | 9 |BREx|ks| = |IET
4 BKLYR A1l — 1|0 7 — 0|1|0]|1|4]8 712
MSCJI- |/ O10 - 1|1|0]1 111 2]9 |1
TIY-X x 0 — 7 0|2|0|0|1]|17]|-16| 3
BJ0Ov% 4 BKKRIAh | MSCAIO- | ARTERRE | B | B | 9 [B=|8S| k=] &= B
4 B K/RI1 bk x 0 — 3|x 1 — 5(0]2|0]0f1 -71 3
MS CAI0- O 5 21010 8 811
ARTEE®RE |O 5 - 1(1(0]|3]|5 -1] 2
AJOvY B | & | 9 |BsR|Bs|ki| = |IEhz
F CAFHA 1(1]0 4 0] 2
JB\53 01210 518 ]-3|3
HlZED O 2 - 2|10f0 7 3|1
BJ0OvY F CAF+$B fighters |RELTSEENTZ| B | & | 9 [Bs|Bs| kx| &= |IET
F CAFB O 3 - 1|0 3 - 2|2]|0]0 6 3|1
fighters x 1 — 4]0[2]0 2 -5| 3
REETHEEMTSZ| x 2 — 1(1]0 6 2|2




